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m,=9 kg

m,=1kg

k;=24 N/m

k,=3 N/m
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06w +8=(?2-2)(w?-4)=0 W) =2 and W? =4

@, , =3IV2 radls, @,,=7x 2 rad/s
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0*-6W2+8=(2-2)(0?-4)=0 =) =2 and @ =4 : JGo

@, ,=*V2 rad/s, @,,==x 2 rad/s

U,

For @’ =2, denote u, :{ } then we have

Uy,

-aolM +K)u, =0=

27-92) -3 |lu, 0
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-3 3—=(2) || u,, 0
9,,—3u, =0 and —-3u, +u,=0
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(—o’M +K)au, =0 < (-0 M + K)u, =0

U
For @w;= 4, let u, :{ 21} then we have
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—u,, —3u,, =0 or u, = _guzz



o JM
99 (ST 42 4 93 i
0 9 guN

0:0
o 31wl gl

S ax lo g

Cpuss a2

J
. 0‘0
& >
b))
A0 099 N9y =
,ls
I el o b
addgo 31 SO
. ‘) u
. ls. )|
—J
Y o &0'
J J
o )-“’-’
(S

1 =u =
Uy, =

Il =u, =
Uyy =




oS Shgiwo (39 (50131 40 13 g i Juho

> w&g.o L L@ég.o J&w 039 6L¢)|°ﬁ o2

@, ; = ++/2, has mode shape u, =

®, , =% 2, has mode shape u, =
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x(t) =au,e”’ +bu, e’ +cue ' +du,e’™

= X(1) = (ae_j“’” +be’™ )u1 + (ce_jwzt +de’™ )u2

= 4, sin(wf + ¢)u, + 4, sim(@,! + ¢, )u,
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